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DECLARE CURSORc _Tool IS--00 O O O SELECT T.PARTID,
T.ALLDODEV, T.PRIDEV FROM T_AlIDev T. rowCurTool
c_Tool%rowtype. iSeqid number. vAllDev varchar2(255). --00 O [
[0 O O vPriDev varchar2(255). --00 O U O iLength number.
ITimes number. --00 O O O O iCur number. --0 0O 0O O O O
vCurDev varchar2(255). --UJ O vlisFirst varchar2(1). --0J O O O
ISubLength number. BEGIN OPEN ¢_Tool. FETCH c¢_Tool into
rowCurTool. while ¢_Tool%found loop SELECT F.SEQID into
1ISeqid FROM T_ROUTDEF F WHERE F.PRTNO =
rowCurTool.PARTID. vAIIDev := rowCurTool. ALLDODEV.
VPriDev := rowCurTool.PRIDEV. iLength := length(vAlIDev).
Oselect length(vAllDev)-length(replace(vAllDev,” " ,null)) into
ITimesfromdual. --O00 0000000 iTimes:=iTimes 1. iCur
.= 1. 1SubLength := 1. while iCur vCurDeyv :=
substr(vAllDev,1,instr(vAllDev,” ;" ,1,1)).ifiCur =iTimes then
ISubLength := 0. else iSubLength := length(vCurDev). end if.
VAIIDev :=substr(vAllDev,iSubLength 1). if iCur = iTimes then



vCurDev ;= VAlIDev. else vCurDev =
substr(vCurDev,1,length(vCurDev)-1). end if. IF vCurDev =
vPriDev THEN viIsFirst:=" 1’ .ELSEvisFirst:=" 0" .END IF.
INSERT INTO T_SepDev(SEQID, RESCODE, ISFIRST)
VALUES(iSeqid, vCurDeyv, visFirst). iCur :=iCur 1. end loop.
FETCH c_Tool into rowCurTool. end loop. CLOSE ¢_Tool. END.
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